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B.Sc. (Fart-Itr) (Semester -fD G\ew) Examination, May - 2015

COMPUTER SCIENCE

Relational Databasc Management System (Paper -VII)
Sub. Code: 63711

Day and Date: Monday, 18 - 05 -2015
Time:3.00 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to right indicate full marks.

3) Draw diagram whenever necessary.

Ql) Select correct alternative and rewnte the statement:

a) The organization of data into relation tables is known as

view of the database.

t) physical

iii) both (i) and (ii)

b)A key is a column or coiumns in a table rvhose value are

the same as the primary key in another table.

ii) logical

rD none of these

ii) secondary

il) none of these

ii) dornatn

ir,) none of these

a real world role played by a named dornain.

D tuple

ir) domain

Total Marks: 50

[10]

c) Primary key constrarnts and unique consffaints are the part of
integnty constraint.

D primary

rii) foreign

r) entrty

iii) check

r) relational

d) attribute

d)

Seat
No.

Pro



e) In mysql kelwords

1) lower case

ur) both (i) and (ii)

In mysql

may be entered in

N- 1381

upper case

none of these

for next line of multiple line

Q1; Solve

a)t

b)r
c)v

Q3) Solve

a)v
b)v
c)v
d)v
e)v
flH

ii)

tD

means waitrng

s)

h)

ir

command.

D

rii)

Command use to show

t) list tables;

lii) show databases

-:-. .-ulputjut.line

rr i:':-. - -:fut put_line

ii)

iv) I'r

list of tables in mysql is

svmbol can be use

algebra.

Do

'DU
Left, right and full are the types of

ir urner ii) outer

tg none of these

-- ' ::ia) message on the screen in pl/sql the command is

ii) show tables;

rg none of these

to show select operation in relational

ii) Tc

t9X

Join.

ii) dbms.outputlut_line

19 none of these

_)-



N - 1381Q2) sorve the fotowing questions (Anv Two): 
I20la) Discuss in brief about databases secunty and environment threats.

b) Discuss the FoR and wHILE loop in pvsqr with suitable examprel
c) What is cursor? Discuss its types.

Q3) Solve the following questions (AnyFour).

a) Write in brief about Cartesian product.

b) write definition ofrelation, attribute, tupre and domain-

c) What is sub_query? grve suitable example.

d) write a pusql brock to print the numbers from l to l0 in reverse order.
e) What is trigger? Write its types.

0 How specific record can be searched in mysql?

€€€
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Total No. of pages : 3

B'Sc' (parf - rr) (sernester - rrD Examination, rr{ovemb er - 2074COMPUTER SCIENCE fpaper _ VI) (New)Object Oriented programming 
Using C ++

Sub. Code : 636II
Dar antl Datc : Friday,, 14 _ II _ 2014Time : .3.00 p.rn. fo 5.00 p.m" 

rr'' 
Total Marks : 50Instructions : l) All qucstions

2) Figurcs,",n.",1J:il:H:iri",, 
rnarks.

QI) select correct arternative ancrrew,rite the staternent.a) 
l"iffiY:Tta rrom dire* access by unauth orized,rr"r,i"#:J

ii) Dahhiding

iv) &{essage passing
to display cutput.

ii) Nfain

it) None of these
of function xhich accepts private data of

c)

d)

e)

r) In-heritance

iit polynrorphism

h)-.t stream js ust,,-j

t cin
iii) Cour

is a speci al t-y.peany class.

t irriend

iii) Consrructor

Tlie ciestrructcr is used for
C'r:eating an object
Deiete an ctrject

is a cial nrember
cfo t.

t) Irriend

iii) Constructor

ii) Destructor

it1 h''one of these

rt Initializevariable

iu) None of these
function of class used for automar:

ii) Inline

irr) None of these

P_f)
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proi,ides faciiit-v of hiding clata or Ltlicticiil
I t. '

J. tt+rn i:ri
- rL!vrrif !

\ r--.a) r,^:

h\ F{o

c ) \i,'-l

.-i\ EvrJ t l--\

,3) \\

f) \\-

1j

iii)

'r\ ]-h +
:)t

i)

1ii)

A CI SS

Pc''inters in C +]-

cpel'a'Lor ({ i-s L,flowll 4S

ji,xtt'action

Biirarl'

is not a reserved

lt Arl object

f,, None of i:hese

operaiof.

iD Insei'tton

i") SccPe l'esoirition

word in C -*.h\

i)

ij fuI'rtai-rie

ii) lR e aclable

ii) Detar"ilt

i") \biatile

e olleetion of var:iables of diff*reni tiata il'p*s'

iD Ciass

ii') Botlli rn(i c

criniitl i:ikes aigunlel^it is iailecl

D Strncture

iii) ,{n'ay

-f !:e con-.tntetor thrt
COnSLI:tiil'LOi"

isa

Ccp3r

irarairrete riscd

J'.:li.itit

' -,:-r I -,-lfli.

- ,I [20j

--:.-:-: lollcepts Lrsei in a ob"ject orienteel programrnirlg'l I

----.--:.,-,.,',iodecla-recorlllnonfi'iendfortrvoclasses?t

- : : r -::-i .: a C ++ Drogram? Explain''viihsuiteible
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[20]Q3) Attempt any Four of the foiiowing

Explain class declaration rvith suitable example.

b) How to define member function outside a class? Explain.

c) at is difference between constructor and destructor?

d) Explain different types of operators in C +*. ,,,-

e) Wirat is data enc suiation?

0 ite a program to overload unary *.f operator.

@

[201
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Day and Datc : Thursday, 13 _ ll _ Z0l4
Timc : 3.00 p.m. to 5.00 p.m.
Instructions : l) All questions are compulsory.

2) Draw diagram whcnevern.l"rru*.
3) Figurc to right indicate full marks.

QI) Select correct alternative and rewrite the sentence.
a) Environment is

B.sc. @art - tr) (semester - IIf) @evised) Examination, Novemb er - 2014
COMPUTER SCIENCE (paper _ V) (New)

F undamental of Soffware bngineering ,/.
Sub. Code : 63611

I-304
Total No. of pagcs : 2

Total Marks : 50

[10]

b)

c)

t) Subsystem

iii) Output

The major objective of the systern is
r) Input

iiD Feedback

with in which an organi zationoperates.

iD Suprasystem

iv) None

to produce -_-.
ii) Ourput

rv) Control

d)

e)

Rectangle can be used to show the entity in
D Dataflow diagram

ii) Entityrelationshipdiagram.

iii) Both i) and ii)
iv) None

In 

- 

system output is unknown.
t) Deterministic ii) probabilistic
iii) Both i) & ii) iv) None of these
system Development Life cycre (SDLC) contain phases.
t) Requirement analysis il) System analysis
iii) System design iD All ofthese
Designing the database is a part of ---- phase in SDLC.
t) Testing

iii) Analysis
iD

iv)

Implernentation

Design

Eta



g) In 3 NT transitive dependency will be
betrve en

D Non - key attributes

iiD Both i) & ii)

t) Interview

iii) Questionnaire

r-304
lemoved means depcndency

ir) Key attributes

iv) None of these

h) is the most significant way of gathering the data without disturbins
the regular routine of the organization.

B.Sc. (Pi

Day and Da
Time:3.00

Instructions:

QI) Select

a)

tC

D

ui

b)

D

iii

i) Itectangle

iii) Ellipse

Q2) Solvc any TWO

ii) Observation

iu) All ofthese

ii) Close system

iv) All ofthese

to show the process in DFD.

ii) Circle

iv) None of these

t) The system which does not interact with environrnent is called as

D Open system

iii) DSS

can be used

a) Discuss the different types of systems.

b) write the case study of system for library information systcm.
c) Writc the general consideration while designing the input and output and

also discuss its different types.

[20]

[201Q31 \ttempt any FOUR

: I l:rplain in brief about testing.

I | \\ har is Data Dictionary?

J I Discuss in briefEntity relationship diagram,

i ' \\::re in brief about decision table.

e I \\1a: is feasibility study?

f) \\-::: :-. :orrnalization? Write lNF, 2NF. 3NF.

oo0l

l

c)
dl

0

tri

dr I
it

il
t

:.r
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B.Sc. (Part-[) (semester-Irr) (New) Examination, May- zlls
COMPIJTER SCIENCE (Revised) 

1...
Fundamental of software Engineering (paper - v)

Sub. Code: 63611

Day and Date :Friday 29 - 0S -Zlls
Time : 3.00 p.m. to 5.00 p.m.

Instructions: AII questions are compulsory.
Draw diagram whenever necessarry.
Figures to the right indicate full marls.

QI) select correct alternative and rewrite the sentence.

Seat
No.

D Control

iii) Feedback

N - 1310
Total No. of Pages :3

Total Marks : 50

1)

2)

3)

t10l
a) is the element of the system, which will check and again give

to the input for modification if required.

b) are the characteristics of system.

ii) Environment

rv) All ofthese

ii) Interdependence

rg All of these

ii) Observation

rv) all ofthese

ii) close system

w) all ofthese

ii) Circle

tD none of these

c) is the most significant way of gathering the data without
disturbing the regular routine ofthe organization.

D Organization

tii) Integration

t) Interview

ui) Questionnaire

D Open system

fi) DSS

Rectangle

Ellipse

d) The system which does not interact with environment is called as

can be use to show the entify in ERD.

D

ur)

el

Pta



s)

N- 1310
D TPS stands for

D Transfer processing system

ii) Transaction p{@essrng system

rii) Transaction producing system

tD All ofthese

During the feasibility study financial study about the system will be conduct
in the

r) Technical feasibility

ii) Economic feasibility

iii) Operationalfeasibifitv

irr) none i

In systera output is unlsrown.

Qrt ^t
a)

b)

c)

d)

e)

0

h)

,

D Deterministic

rii) both l&2

-- ,/u) Probabilistic

rD none

rD

Relation between the entity can be shown by r:r, r:M, M.M which can
be shown using ttre technique.

D Data flow diagram ii) Decision table

iii) Decisiontee iv) None of fhese

is the element of the system that interact in actual
transformation of rnput inso outrdf.

D Outpu#Input fr) Environrnent

Conholrii) processor

Q2) Snilve ry Two :

120la) Discuss the differe# characteristics and qualities of software developed
rring softrvare engimf,ring:

b) *a- L rrrnrli-*ian? Explaia in dstait lMf, 2NF, 3NF with suitable*_t'_
c) wh fo t.sing? Exprain in brief white box, black box, alphaadbcrr+

-L



1310

Q3) Attempt any FoUR " N- lStO
a) write the role.of system analyst in brief. {201

b) How decision tree helps to take decision in the system.c) V/hat do you meant by feasibility study?d) What is change over? explain it in brief.e) what is the rore system development toor rn system design?D What is data dictionarv?

OOOO
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rl No. of pages : 3% (sernester- v) Exi
Mr{Trmn4{Tr#inatio, April - 2ors

Real.4

DavandDare: I 
ttT't3*1t#t"- x)

ttr",,.0'oo'":ilffi
rnstrucfions : l) Ail questions 

ar2) 
"t**.,," ri.ar€ 

colrPulsorv.
ight indicate iull marks.

Ql) Select the correct alternative fa) Ifa function-/is bounded 

r each ofthe following:
and integra bie in Ia o, ^^" , . 

f8l

,r,u, rf @r<k, vxe ra, btthenli ,;;;i'u 
fa' br ana k is anumb such

Ia

, rrlo-"1 r) +
nt klo+al 

,D ?b) lf.f andg are two real valued funcfions then min f, g):,) lr*sl*{_s 
n) _lr_sFr*s

iii) lr-sl*r*s 
ry) v_el*r_s

c) ff s--{s,}-,e (' and r=fr,}i -e 12 then,) ll,*,lL>h/[ *ll,ll,

u) 
ils +4,sil4r,*il,il, 

n) il'*,rLril'il'*il,il,

ir') ll'*41,=//"/t

F.ZQ



\-765
d) If 0'G)= f (x) for all xe domain of the function-l then

r) /(x) is called an integral of QQ)

D .f '(*) is called an inteEalof QG)

ur) Q'@) is called an integral of/(x)

rv) Q@) is called an integral of f (x)

e) The sequence 1, 1, 1, 1, 1, '.. 1S

D divergent

D oscillatory

0 If f isa function from A into B and if range of f: B then/is c:r:36

function.

D onto

1ii) one-to-one

D DraI rC- 1) summable

ir-) rC- llsummable

Q2) Aner

al

br

c)
l

Q3) Atten

a)l

b) I

c)s
d)P

o\c/ trf {s,}-,is a

|tg s.'rp u, :

1) ----oo

ur one-one & onto

of real numbers that is not bound;l ::'--'e then

'-' g 1 b {r,., r,, ,, s,_r, ...}

D lub {s,,

tv) oo

- = -::rrem that tf {a ,,}1, it non increas'rg sequence of pc 
'- - : --

:__ _ : S _- ct,a\erqes. then ltmno,._0 is caile,J

sequence

c{
e)

PI0



Q2) Attempt any fwo of the folrowrng. N -76s
a) 

,ffiJ3il a non-decreasing sequence which is bound.o ,o"r:t:J
b) Define conditional convergence and absorute convergence of a series. If,..i., SLa, converges absolutely, thenprove tfrat Ia, converges.c) If f and.-g are both boundedand integrab Ie on [a, Ul,,=, rn"n,is also bounded ,"d i;;;e, able over [a, b] prove that f g

Q3) Attempt any four of the following:

a) ff {",}|, is a convergent sequence
fr6]

of real numbers, then prove that,Bt,p.f=,ryg,

b) Iff : A _+ B and Xe Aandye

"f(Xny).-f(X)n f
B then prove that

(Y)

c) Show that thc series f nt 
^-v^rvr ft r, converges.

d) prove that countabre union of countabre sets is countabre.e) Show that ,f is not integrabie ir
f f*y={ 

0,wherexisrational 
----vbLqwrE rn any interval, if

lT,where x is irrailonal

Prove that rhe series 
E#fconverges.

rF {F (F
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